2036 Penang Sangam Primary School

Year 8
Mathematics

Worksheet 4 Solution

Question Working & Answer
1. Calculate the perimeter and area of the shape
below. P=(L+W)x2 A=LXW
4cm =(8+4)x2 =8x4
=12x2 = 32cm?
8cm =24 cm
2. Calculate the perimeter and area of Mr. Lal’s | P=L x4 A=LXxL
square garden with a length of 8m. =8 x4 =8x8
=32m = 64m?
3. Calculate the perimeter of the composite
shape below. L~ 3cm Pi=(L+W)x2 P2=3+3 P=20+6
=(6+4)x2 =6cm =26cm
=10x2
4cm =20cm
6cm
4. Calculate the area of the composite shape
below. 2cm Ar=LxXW A>=LxXW As=LxXW
=10x2 =2x2 =10x2
= 20cm? = 4cm? = 20cm?

10cm A
LZcm

2cm

Ar=A1+ Az + A3
=20+4+20
= 44cm?
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